
N = 319

319 circles in a 1x0.70000 rectangle

radius =   0.024497468496
ratio  =  28.574381067331

density  = 0.859181528174
contacts = 650
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N = 320

320 circles in a 1x0.70000 rectangle

radius =   0.024451813301
ratio  =  28.627733713688

density  = 0.858665380103
contacts = 460
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N = 321

321 circles in a 1x0.70000 rectangle

radius =   0.024325622010
ratio  =  28.776242585115

density  = 0.852481127488
contacts = 665
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N = 322

322 circles in a 1x0.70000 rectangle

radius =   0.024290253519
ratio  =  28.818143023675

density  = 0.852651969526
contacts = 611
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N = 323

323 circles in a 1x0.70000 rectangle

radius =   0.024233083758
ratio  =  28.886129680727

density  = 0.851278611436
contacts = 726
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N = 324

324 circles in a 1x0.70000 rectangle

radius =   0.024202560065
ratio  =  28.922560179908

density  = 0.851764344312
contacts = 591
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